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Document	réponses	Numérique	et	Sciences	Informatiques 

I-1-		ligne1 = { "num" : 	..............................................................................................................................................		

	 		................................................................................................................................................................................................		

	 		................................................................................................................................................................................................		
	 	ligne2 = 	........................................................................................................................................................................		

	 		................................................................................................................................................................................................		

	 		................................................................................................................................................................................................		
I-2-		def direct(reseau, depart, arrivee) :	

	 		 for ligne in 	..............................................................................................................................................	 :	

	 		 	 nb = 	.................................................................................................................................................................	 

	 		 	 for station in 	................................................................................................................................	 :	

	 		 	 	 if (station == depart) 	.......................	 (station == arrivee)	:	

	 		 	 	 	 nb = 	................................................................................................................................................		

	 		 	 	 if ( 	.....................................................................................................................................		== 2) :	
	 		 	 	 	 return True	
	 		 return False	
I-3-		def lister_lignes(reseau) :	
	 		 dico = { } 

	 		 for ligne in 	..............................................................................................................................................	 :	

	 		 	 for station in 	................................................................................................................................	 :	

	 		 	 	 if 	........................................................................................................................................................	 :	

	 		 	 	 	 dico[station].append(	..................................................................................................	)	
	 		 	 	 else: 
	 		 	 	 	 dico[station] = 	...................................................................................................................		

	 		 return 	.....................................................................................................................................................................		

1 ,   'arrets'  :  [  'gare' ,  'piscine' ,
'lycee' ] ,  'circulaire'  :  True }

'stade' ,  'piscine' ] ,  'circulaire' : False }
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I-4-		def direct_bis(dico, depart, arrivee) :	

	 		 for ligne in 	.................................................................................................................................................	 :	

	 		 	 if ligne in 	............................................................................................................................................	 :	

	 		 	 	 return 	...................................................................................................................................................		

	 		 return 	.....................................................................................................................................................................		
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